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TrigonometryExercise8 Answers for No.10052

1= (2443 =41.569) M

Ansl=[104+/3 = 180.133], , Ans2=1[4/89-404/2 =5.695], , Ans3= 443 L
.2 =| arctan, ; =22.173° t
h

@
.1:219} M
2=1410 | U

Ans4 =182.448, , Ans5=89.788, , Ans6 =305, |, Ans7:[

T
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TrigonometryExercise8 Answers for No.10064

1=(304/3 =51.962) M

Ansl=[484/3 =83.138], , Ans2=1[+/ 1457243 =4.505], , Ans3= e N
.2 =| arctan| — |=19.107° t
h

@
1 =99 M
Ans4 =191.450, , Ans5=85.353, , Ans6=133, , Ans7—[2 _ 49}, U

T
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TrigonometryExercise8 Answers for No.10076

M
1 =178

e i I ey el _ 13 y
Ansl [96 321/? 40574]a 5 Ans2 [3 5 2ﬁ 3718]’ ’ Ans3 _2:(arctan(_):28.443oj R
24 h

@

.1 =230 M

Ans4=162.190, , Ans5=93.710, , Ans6 =275, Ans7—[2: 148}’ U

T
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TrigonometryExercise8 Answers for No.10077

1 =(224/3 =38.105) M

Ansl =[724/3 =72=52.708], , Ans2=[+/61 =7.810], , Ans3 = 1143 L
.2 =| arctan| =17.617° t

h

.1 =259 M
Ans4=172.129, , Ans5=88.594, , Ans6=270, Ans7—[2 _ 183}’ U
T
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TrigonometryExercise8 Answers for No.10083

1=60 M
- - - - - 10 a
Ansl =[684]3 =117.7791, , Ans2=[73 =8.544], , Ans3 .2:(arctan(—j:27.759°j’ |
h

1=408] | M

Ansd = 132.207, , Ans5=121917, , Ans6=175, ,Ans7—[2:313}, v

T
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TrigonometryExercise8 Answers for No.10109

1=96 M
= = = = = 2 ’
Ansl =563 =96.995], . Ans2=[+/61 =7.810], . Ans3 .2:(arctan(—J:33.690°j’ i
h

@

1=395] | M

Ans4 =141.925, , Ans5=149.326, , Ans6=297, , Ans7 _[2:280}’ | U

T
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TrigonometryExercise8 Answers for No.10180

1=(2243 =38.105) M
a
Ansl =[126—424[3 =53.254], , Ans2=[+/85-424/3 =3.501], , Ans3= 114/3 -
.2 =| arctan| =21.650° t
h

Ans4 =181.800, , Ans5=148.230, , Ans6=224, , Ans7 :[']:143}’ v
2=82 U
T
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TrigonometryExercise8 Answers for No.10181

Ansl=[1204/3 — 120=87.846], , Ans2=[+/34—15+/3 =2.832], , Ans3=

1=(224/3 =38.105) M

= 19.434°j ’

2

1 “
.2 =| arctan t
h

@
=169 M
Ans4=161.990, , Ans5=78.653, , Ans6 =148, ’A”S7_L2:85}’ U

T
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TrigonometryExercise8 Answers for No.10191

1=72 M
= = = = = 4 ’
Ansl =[84+/3 = 1454921, , Ans2=[/61 =7.810], , Ans3 .2:(arctan(—j:29.745°j’ 1
h

@

.1 =453 M

Ans4=191.413, , Ans5=94.671, , Ans6=230, AV!S7—[2:29J’ U

T
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TrigonometryExercise8 Answers for No.10281

=96 M
Ansl =[764/3 =131.636], , Ans2=[/34—154/2 =3.576], , Ans3= 16 “
T T 2=|arctan| — |=37.304° |[ | ¢
21 i
.1 =292 M
Ans4 =152.299, , Ans5=135.117, , Ans6=217, Ans7—[2:188}, U
T
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TrigonometryExercise8 Answers for No.10437

1=96 M
Ansl =[564/3 =96.9951, , Ans2=1[4/19 =4.359], , Ans3 ,2:(arctan(—j=33.6900 BRI
3 h

1 =109 M

Ans4=161287, , Ans5=78.972, , Ans6 =234, aA”S7—[,2=77}’ U

T

X Math@MUT XXXXXXXXXXXXXXXXXXXXKXXXXXKXXXKXXKKXXXKXKKXXXXXKKXXXXKKXK XX KXKKX XX KKK KX KKK XXX KKK XK KKKXKXKKXXKMS /1-6800308-00012XX
TrigonometryExercise8 Answers for No.10493

M
A=T72

AnsI=[484/3 =83.138], , Ans2=[34/10-34/2 =7.198], , Ans3 = 2_(arctan(ij_30964oj, |
. - 5 - N h

@

=271 M

Ans4 =141.825, , Ans5=68.559, , Ans6=278, AV!S7—[2:136}’ U

T
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TrigonometryExercise8 Answers for No.10596

A =72

M
= — = = — = = 4 a
Ansl=[114—-384/3 =48.182], , Ans2=[+/85—424/2 =5.060], , Ans3 .2:(arctan(—j:29.745°j’ |
h

@
1 =159 M
Ans4 =151.999, , Ans5=72.293, , Ans6 =286, |, AV!S7—[2 _ 122}’ U

T
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX XX XXX XXX XXX XXX XXX XXX XXX XXX XXX XX XXX XXX XXXXXME /1-6800308-00014XX
TrigonometryExercise8 Answers for No.10599

1=72 M
= — = = - = N 6 ;
Ans1=[108+/3 —108=79.061], , Ans2=[4/74-354/2 =4.9501, ., Ans3= (ama (_j 28,610°j’ i
11 h

@

1=290 M

Ans4=162.190, , Ans5=86.301, , Ans6=140, aA”S7—[_2=186}’ U

T

X Math@MUT XXXXXXXXXXXXXXXXXXXXKXXXXXXXXXXKKXXXKXKKXKXXKXXKKXXXKXKKXK XX KKK XX KKK KX KKK XXX KKK X KKKKXXKXKKXKXKMS /1-6800308-00015XX
TrigonometryExercise8 Answers for No.11068

1=(304/3 =51.962) M
a
Ansl =[78 —264/3 =32.967], , Ans2=[4+/3 =6.928], , Ans3 = 5 .
[ [ | : [ | .2:(arctan :18.4220] !
h
@
1=299] | M
Ansd =151.933, , Ans5=141.015, , Ans6=132, ,Ans7—[2:149}, s
T
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TrigonometryExercise8 Answers for No.11423

1=(9643 = 166277) M
a
Ansl = [444[3 =76210], , Ans2=[2+7 =5292], , Ans3= 843 -
.2 =| arctan, 3 =46.826° t
h

=147 M
Ans4 =161.781, , Ans5=85.215, , Ans6=156, ,Ans7—[2:113} |y
T

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX XXX XXX XX XXX XXX XXX XXXX XX XXX XXX XXX XX XXX XXX XXXXXME /1-6800308-00017XX
TrigonometryExercise8 Answers for No.11440

1=(60+3 =103.923) M

Ansl=[1144/3 — 114=83.454], , Ans2=[3/10-3+/2 =7.198], , Ans3= , ( (ﬁj
.2 =| arctan| —_
2

a
:40.893"}’ |t
h

@
1 =178 M
Ans4 =181.883, , Ans5=104.437, , Ans6 =186, , Ans7—[2 _ 126}’ U

T
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TrigonometryExercise8 Answers for No.11466

1=(664/3 =114315) M
a
Ansl =[404/3 =69.282], , Ans2=[3 =5.196], , Ans3 = 11 s
[ [ | [ [ ] .2:(arctan :45.0790] !
h
@
Ans4 =141.342, , Ans5=104.262, , Ans6=126, Ans7=[']:144}, , M
.2=93 U
T
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TrigonometryExercise8 Answers for No.11863

1=(2643 =45.033) M
a
Ansl=[104+/3 = 180.133], , Ans2=[+/34—15+/3 =2.832], , Ans3= 134/3 -
.2 =| arctan| =18.073° t
h

@
.1:122} M
2=781 |l U

Ans4 =141.757, , Ans5=121.678, , Ans6 =224, , Ans7:[

T
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XX XX XXXXXME/1-6800308-00020XX
TrigonometryExercise8 Answers for No.11967

1= (8443 = 145.492) M
Ansl =[1564/3 — 156 = 114.200], , Ans2=[/37 =6.083], , Ans3= 1443 .
.2 =| arctan| =46.514° t
h
@
1=178 M
Ansd = 152.049, , Ans5=141.706, , Ans6 =219, ,Ans7—[2:136}, i
T
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TrigonometryExercise8 Answers for No.13031

1=(96+/3 =166.277) M

Ansl=[114-384/3 =48.182], , Ans2=[+/145—-724/2 =6.571], , Ans3 = E L
.2 =| arctan| =51.555° t

h

@
.1:439} M
2=2820 | U

Ans4=172.059, , Ans5=62.529, , Ans6=117, Ans7:[

T
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TrigonometryExercise8 Answers for No.13093

1= (8443 = 145.492) M
a
Ansl =[524/3 =90.0671, , Ans2=[34/7=7.937], , Ans3= 7.3 -
.2 =| arctan| 0 =50.485° t
h

1=210 M
Ans4 =141.432, , Ans5=74.120, , Ans6 =209, ,Ans7—[2:161} | U
T

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX XX XXX XXX XXX XXX XXXX XXX XXX XXX XXX XXX XX XX XXXXXME /1-6800308-00023XX
TrigonometryExercise8 Answers for No.13163

1=(7243 = 124.708) M

Ansl =[684/3 =117.779], , Ans2=[34/10-3+/2 =7.198], , Ans3 = 443 N
.2 =| arctan| =44.705° t
h

@
.1=285} M
2=143) | U

Ans4 =181.830, , Ans5=78.972, , Ans6=213, |, Ans7={

T
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TrigonometryExercise8 Answers for No.13403

1=T72 M
Ansl =[884/3 =152.420], , Ans2=[+/65—28+/2 =5.040], , Ans3= 12 ¢
> > 2=|arctan| — [=27.553° || | ¢
23 ,
@
1=407] | M
Ans4 =141.442, , Ans5=126.715, , Ans6 =189, , Ans7—[2:204}, U
T
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TrigonometryExercise8 Answers for No.13459

1=96 M
= —_ = = = = 16 .
AnsI =[604/3 —60=43.9231, , Ans2=[43 =6.557], , Ans3 _gz(arctan(—j:30.651°j’ |t
27 h

1 =153 M

Ans4=181.817, , Ans5=67.002, , Ans6=158, |, AV!S7—[2:117} U

T

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX XXX XXX XX XXX XXX XXX XXXX XXX XXX XXX XXX XX XXX XX XXXXKXME /1-6800308-00026XX
TrigonometryExercise8 Answers for No.13581

1=90 M
Ansl = [444/3 =76210], , Ans2=1[4/65—284/3 =4.062], , Ans3= 2—(arctan(£J—34287°J’ , ‘t’
h

Ansd = 151550, . Ans5=42300, , Ans6=121, ,Ans7={12:_19667}, , Ag

T
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TrigonometryExercise8 Answers for No.13668

=284 M
Ansl=[114+/3 — 114=83.454], , Ans2=[+/58—214/3 =4.650], , Ans3= 2_(arctan(5 _292490J, , ‘t‘
. - 25 - . h

@

1=709] | M

Ans4=131.134, , Ans5=153.569, , Ans6 =305, |, Ans7—[2:456}, U

T
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TrigonometryExercise8 Answers for No.13716

=284 M
~ 160 — - - _ _ _ 14 a
Ansl =[60-204/3 =25359], , Ans2=[44/5-2+/2 =5.895], , Ans3 -2:(aman_ :36.384()}, |
19 ,

. @

I=444] | M

Ans4 =182.548, , Ans5=126.440, , Ans6=209, Ans7—[2:314_, U

T

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX XXX XXX XXX XXX XXX XXX XXXX XXX XXX XXX XXX XXX XXX XXXXXXME/1-6800308-00029XX
TrigonometryExercise8 Answers for No.13720

1=(3243 =55.426) M
a
Ansl =[114—384/3 =48.182], , Ans2=[+/21 =4.583], , Ans3~= 8 .
[ [ | [ ] 2= (arctan = 22.777°J t
h
1=367] | M
Ansd = 141.800, , Ans5=168.457, , Ans6= 135, ,Ans7—[2:210}, v
T
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TrigonometryExercise8 Answers for No.14307

1= (8443 =145.492) M

Ansl =[884/3 =152.4201, , Ans2=[/73 =8.544], , Ans3= 743 L
.2 =| arctan| 5 =45.295° t

h

@

1=331 M

Ans4 =171.409, , Ans5=86.475, , Ans6 =126, ,Ans7—[2:190} | U
T
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TrigonometryExercise8 Answers for No.14598

1=T72 M
Ansl =[724/3 =124.708], , Ans2=[/34—15+/3 =2.832], , Ans3= 2_(arctan(ﬂ]_297450], , ‘;
h

=251 M

Ans4 =191.887, , Ans5=133.662, , Ans6 =145, Ans7—[2:177}, U

T
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TrigonometryExercise8 Answers for No.14624

=284 M
Ansl=[1144/3 — 114=83.454], , Ans2=[24/13 =7211], , Ans3 .2:(arctan(—J:32.471°J’ 1
1
h
=192 M
Ansd = 171491, , Ans5=127.047, , Ans6 =191, ,Ans7—[2:123}, S
T

X Math@MUT XXXXXXXXXXXXXXXXXXXXKXXXXKXXXKXXKXXXKXKKXXXXXKKXXXXKKK XX KKK X KKK KX KKK XXX KKK XK XKKXKXXKKKXKMS /1-6800308-00033XX
TrigonometryExercise8 Answers for No.14641

1 =(284/3 =48.497) M
Ansl =[524/3 =90.067], , Ans2=[34/10-34/2 =7.198], , Ans3 = 14 N
.2 =| arctan| =17.917° t
h
@
1=2712]1 |m
Ans4=191.450, , Ans5=129.552, , Ans6=217, Ans7—[2:192}, U
T
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TrigonometryExercise8 Answers for No.14681

1 =(7243 = 124.708) M

Ansl=[104+/3 = 180.133], , Ans2=1[4/74-354/2 =4.950], , Ans3= 443 L
.2 =| arctan, =44.705° t
h

) @

I=104] | M

Ans4=141.492, , Ans5=126.367, , Ans6=158, , Ans7 = 2_703}, U

T
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX XXX XX XXX XXX XXX XXX XXXX XXX XXX XXX XXX XXX XX XX XXXXXME/1-6800308-00035XX
TrigonometryExercise8 Answers for No.14688

1=(7243 = 124.708) M

Ansl =[1204/3 —120=87.846], , Ans2=[+/130—63+/2 =6396], , Ans3=

b

12 L
.2 =| arctan| =47.568° t
h

@
1 =643 M
Ans4=161.387, , Ans5=94.156, , Ans6 =270, aA”S7—[_2=413}’ U

T

X Math@MUT XXXXXXXXXXXXXXXXXXXXKXXXXXXXXKXXKKXXXXKKXXXXXKKXXXKKKK XX KKK XX KKK LXK XKKX XXX KKK X KKKKXKXXKKKXKMS /1-6800308-00036XX
TrigonometryExercise8 Answers for No.14703

A=T72 M
a
AnsI=[1384/3 —138=101.023], . Ans2=[24/7=5292], . Ans3= 2—(arctan(£]—27553oj’ |
h
@
.1=235 M
Ans4=181.983, , Ans5=69.279, , Ans6=152, AnS7_[2:166}’ U
T
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TrigonometryExercise8 Answers for No.14714

1=78 M
W/—————_____ a
Ansl =[144 - 484/3 =60.862], , Ans2=[2+/25—124/3 =4.106], , Ans3= :(ama( j 34380")’ |
19 h
@
.1 =169 M
Ans4 =161.650, , Ans5=74.120, , Ans6 =245, Ans7—['2:97}, | U
T

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX XX XXX XXX XXX XXX XXXXXXXX XXX XXX XXX XXX XXX XX XX XXXXXME/1-6800308-00038XX
TrigonometryExercise8 Answers for No.14746

1=66 M
= — = = = = 1 a
Ansl =[108 —364/3 =45.646], , Ans2=[4/21 =4.583], , Ans3 .2:(arctan(_j:26'5650j, g
h

1=576 M

Ansd = 171.641, , Ans5=133.810, , Ans6 =149, ,Ans7—[2:370}, S

T

X Math@MUT XXXXXXXXXXXXXXXXXXXXKXXXXXKXXXKXXKXXXXKKXXXXKXKKXXXXKKXK XX KKK XX KKK LXK XKKX XXX KKK XK KKKXXKXXKKXKXKMS /1-6800308-00039XX
TrigonometryExercise8 Answers for No.15000

1 =(784/3 =135.100) M
Ansl =[844/3 =145.492], , Ans2=[3+/5-24/3 =3.718], , Ans3 = 13 N
.2 =| arctan| =45.665° t
h
@
1=554] | M
Ans4=191.534, , Ans5=86.213, , Ans6=215, |, Ans7—[2:356}, |y
T
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TrigonometryExercise8 Answers for No.15012

1=(2043 =34.641) M
a
Ans1 =[150+4/3 — 150 = 109.808], , Ans2=[24/7 =5292], , Ans3= 104/3 o
.2 =| arctan| =16.902° t
h

@
.1:149} M
2=7471 |l U

Ans4 =181.833, , Ans5=101.525, , Ans6=177, Ans7=[

T
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX XXX XXX XXX XXX XXX XXX XXXX XXX XXX XXX XXX XXX XX XX XXXXXME/1-6800308-00041XX
TrigonometryExercise8 Answers for No.15024

1=(224/3 =38.105) M
Ansl =[644/3 =110.851], , Ans2=[+/39 =6.245], , Ans3= 11 N
.2 =| arctan| =21.650° t
h
Ansd = 151780, , Ans5=121.995, , Ans6=198, | Ans7:[']:137}, 1M
2-88 U
T

X Math@MUT XXXXXXXXXXXXXXXXXXXXKXXXXXXXXXXKXXXKXKKXXXXKXKKXXXKXKKK XX KXKKX XX KKK LXK XKKX XXX KKK XK KKKXXKXXKKXKXKMS /1-6800308-00042XX
TrigonometryExercise8 Answers for No.15032

1 =(284/3 =48.497) M
a
Ansl =[784/3 —78 =57.100], , Ans2=[/97 —364/2 =6.789], , Ans3= 2.4/3 -
.2 =| arctan| =21.052° t
h

@

.1 =409 M

Ans4 =181.930, , Ans5=159.961, , Ans6 =305, Ans7—[2:263}, U
T
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